# Subdirect Products of Rings without *-Reversible Elements 

Wafaa Mohammed Fakieh *<br>Department of Mathematics, King Abdulaziz University, Jeddah, Kingdom of Saudi Arabia


#### Abstract

A left (right) zero divisor $a \in R$ is called right (left) $*-$ reversible if $a x=0(x a=$ 0 ), for $x \in R, x \neq 0$, then $x a^{*}=0\left(a^{*} x=0\right)$. In this note we prove that a $*-$ prime involution ring is a $*$-compressible if and only if it has no $*-$ reversible element. Moreover, we show that semiprime ring with involution $R$ is a subdirect product of ring without $*-$ reversible elements if and only if $R$ is $*-$ compressible. Several results related to $*$-compressible ring are obtained.


Keywords: *-reversible element, *-compressible ring

## 1 Introduction and Preliminaries

Throughout the paper $R$ denotes an associative ring with identity. Recall that an involution on a ring $R$ is an additional binary operation $*$, such that $(a+b)^{*}=$ $a^{*}+b^{*},(a b)^{*}=b^{*} a^{*},\left(a^{*}\right)^{*}=a$, for all $a, b \in R$. Let $S, T, N, K$ denote the set of all symmetric elements $\left(x=x^{*}\right)$, the set of all traces $\left(x+x^{*}\right)$, the set of all norms $\left(x x^{*}\right)$ and the set of skew-symmetric elements $\left(x^{*}=-x\right)$ in $R$ respectively. Not that $T \cup N \subseteq S$. A ring $R$ is called $*$-prime ring if $A B=0$ implies $A=0$ or $B=0$ where $A$ and $B$ are $*$-ideals of $R$ (e.g., $I^{*} \subseteq I$ ) [2]. It is obvious that prime rings are $*$-prime. Some characterizations of $*-$ prime rings can be found in [2]. A ring $R$ is called semiprime if $A^{2}=0$ implies $A=0$ where $A$ is an ideal of $R$. Let $R$ be a ring with involution, a left zero divisor $a \in R$ is called right $*-$ reversible if $a x=0$ implies $x a^{*}=0$ for $x \in R$. Right $*-$ reversible element and $*$-reversible element are defined analogously [3]. W.Fakieh and S.K.Nauman proved that if $R$ has no $*$-reversible element then $R$ has no nonzero symmetric divisors of zero [7]. Further work on $*-$ reversible elements appears in [4], [3], [7].

A ring $R$ is called $*-$ compressible if for any $y \in T \cup N, a y^{n} b=0$ implies $a y b=0$, where $n$ is a power of 2 [1]. In early work, Andrunakievic and Rjabuhin have shown that a ring $R$ is without nilpotents if and only if $R$ is a subdirect product of skew domains [5]. In [1, Proposition 2 and Theorem 2], Tao-Cheng Yit has proved that if $R$

[^0]is $*$-prime then $R$ is $*$-compressible if and only if every nonzero symmetric element in $T \cup N$ is a nondivisor of zero, and if $R$ is a semiprime ring with involution then $R$ is $*$-compressible if and only if $R$ is a subdirect product of rings without nonzero symmetric divisors of zero.

In this note, we shall prove T.C.Yit results by considering the $*$-reversible elements instead of the symmetric divisors of zero in $T \cup N$. Moreover, we study some properties of $*$-reversible elements in $*$-compressible ring; In particular, we show that if $R$ is $*$-compressible ring then the set of $*$-reversible elements is closed under multiplication and we prove that if the involution $*$ is proper involution (e.g. $a a^{*}=0$ implies $a=0$ ) and $s_{1} s_{2} s_{3}=0$, where $s_{i}$ is $*$-reversible elements of $*$-compressible ring $R$, then the products of the $s_{i}$ 's is zero in any order.

## 2 Results

First, we recall some properties of $*$-compressible ring in [1].
Proposition 2.1. [1, proposition 1] Let $R$ be a $*$-compressible ring, $x \in R$.

1. If $s \in T \cup N$ with $s^{n}=0$, then $s=0$.
2. If $x x^{*}=0$, then $x^{*} x=0$.

Proposition 2.2. [1, proposition 2] Let $R$ be $a *$-prime ring. Then $R$ is $*$-compressible if and only if every nonzero symmetric elements in $T \cup N$ is a nondivisior of zero.

The following proposition shall be useful in the proof of the results of this note.
Proposition 2.3. Let a be a square zero element in $*$-compressible ring, then $a$ is $a$ skew symmetric element.

Proof. Let $a^{2}=0$, then

$$
a^{*} a\left(a+a^{*}\right)^{2} a a^{*}=0 .
$$

Since $R$ is *-compressible, we have

$$
a^{*} a\left(a+a^{*}\right) a a^{*}=0
$$

Thus $a^{*} a a^{*} a a^{*}=0$ and so, $\left(a a^{*}\right)^{3}=0$. Hence $a a^{*}=0$ by proposition 2.1. Consequently, $\left(a+a^{*}\right)^{2}=0$ and so $\left(a+a^{*}\right)=0$ since $R$ is $*$-compressible, hence $a=$ $-a^{*}$

Proposition 2.4 and Theorem 2.5 are analogous to [1, proposition 2] and [1, theorem 1] respectively, by considering $*$-reversible elements instead of symmetric zero divisors under the same conditions.

Proposition 2.4. Let $R$ be $a *$-prime ring. Then $R$ is $*$-compressible if and only if $R$ has no $*$-reversible elements.

Proof. Let $x \in R$ be a nonzero $*-$ reversible element of $R$, then there exists $0 \neq y$, such that $x y=0$ and this implies that $y x^{*}=0$.
Then we have the following equality for $r \in R$ :

$$
x\left(x^{*} r y^{*}+y r^{*} x\right)^{2} y^{*}=x\left[\left(x^{*} r y^{*}\right)^{2}+\left(y r^{*} x\right)^{2}+x^{*} r y^{*} y r^{*} x+y r^{*} x x^{*} r y^{*}\right] y^{*}=0 .
$$

Since $R$ is $*$-compressible, it follows,

$$
x\left[x^{*} r y^{*}+y r^{*} x\right] y^{*}=0
$$

Therefore, $x x^{*} r y^{*} y^{*}=0$. Since $R$ is $*-$ prime, we have $x x^{*}=0$ or $\left(y^{*}\right)^{2}=0$. If $x x^{*}=0$, then $r x x^{*}=0$. Since $x$ is $*$-reversible element we have, $x r x=0$ then $x^{*} x^{*}=0 \Rightarrow$ $x^{*}\left(x^{*} r\right)=0$, so $x^{*} r x=0$. Again, $R$ is $*-$ prime ring, it follows $x=0$.

If $\left(y^{*}\right)^{2}=0$ then $\left(y r^{*} r y^{*}\right)^{2}=\left(y r^{*} r y\right)^{2}=0$ as $y^{*}=-y$ by proposition 2.3, then we have $y r^{*} r y^{*}=y r^{*} r y=0$ since $R$ is $*-$ compressible. Hence $y=0$ or $y r^{*}=0$ by [2, Theorem 5.4], thus $y=0$ and $R$ has no $*-$ reversible element.
Conversely, let $R$ has no $*-$ reversible element. By [7, theorem 1] $R$ has no nonzero symmetric divisor of zero. Thus $R$ is $*$-compressible ring by preposition 2.2.

Theorem 2.5. Let $R$ be $*$-compressible and $Q$ is the prime radical of $R$, then $Q=$ $\left\{\cap P^{\prime}: P^{\prime} a *\right.$-prime ideal such that $R / P^{\prime}$ has no $*$-reversible element $\}$.

Proof. Let $P$ be a prime ideal, then $N=C(P)$ is an m-system. By [1, Proposition 3] there exist a $*$-prime ideal $P^{\prime}$ such that $R / P^{\prime}$ is $*$-compressible and $P^{\prime} \cap N=\phi$. Thus for such a $*$-prime ideal $P^{\prime}$, we have $P^{\prime} \subseteq C(N)=P$ and $R / P^{\prime}$ is $*$-prime ring. So $R / P^{\prime}$ has no $*$-reversible element by proposition 2.4.

Therefore $Q \supseteq \cap\left\{P^{\prime} \mid P^{\prime}\right.$ is $*$-prime ideal and $R / P^{\prime}$ has no $*$-reversible elements $\}$ and since $Q$ is the minimal semiprime ideal, it follows $Q=\cap\left\{P^{\prime} \mid P^{\prime}\right.$ is $*-$ prime ideal and $R / P^{\prime}$ has no $*-$ reversible elements $\}$.

Now, we can derive our main theorem.
Theorem 2.6. Let $R$ be semiprime with involution, then $R$ is $*$-compressible if and only if $R$ is a subdirect product of rings without $*$-reversible elements.

Proof. Let $R$ be $*$-compressible ring then by theorem $2.5, R$ is a subdirect product of rings without $*-$ reversible elements. Conversely, let $R$ be a subdirect product of rings without $*$-reversible elements. Therefore, $R$ has no nonzero symmetric zero divisor by [7, Theorem 1]. So $R$ is $*$-compressible by [1, theorem 2].

Recall that the involution $*$ is proper involution if $a a^{*}=0$ implies $a=0$ [6]. Lemma 2.2 and lemma 2.8 below give us some properties of the set of $*$-reversible elements of $*$-compressible ring with proper involution.

Lemma 2.7. Let $R$ be $a *$-compressible ring and $*$ is proper involution then the set of *-reversible elements is closed under multiplication.

Proof. Let $a, b$ are $*$-reversible elements in $R$ then there exists $y \neq 0, x \neq 0$, such that

$$
\begin{aligned}
& a x=0 \Rightarrow x a^{*}=0 . \\
& y b=0 \Rightarrow b^{*} y=0 .
\end{aligned}
$$

Hence, $x a^{*} b^{*}=0 \Rightarrow b\left(x a^{*}\right)=0 \Rightarrow(a b) x=0$, thus $(a b)$ is a left zero divisor and since $b^{*} y=0 \Rightarrow a^{*} b^{*} y=0 \Rightarrow b^{*} y a=0 \Rightarrow y(a b)=0$. Therefore $(a b)$ is a zero divisor. Now, let $(a b) h=0$, then $[h(a b)]^{2}=0$ and by proposition 2.3, $h(a b)=-(a b)^{*} h^{*}$, so $h(a b)(a b)^{*} h^{*}=0$, and $h(a b)=0$ since $*$ is proper involution. Thus $a^{*} b^{*} h=$ $a^{*} b^{*} h b^{*} a^{*}=b^{*} h b^{*} a^{*} a=0$ and $h b^{*} a^{*} a b=0$ since $a, b$ are $*$-reversible elements. So, $h(a b)^{*}(a b) h^{*}=0$. Again $*$ is proper involution then $h(a b)^{*}=0$ and $(a b)$ is a right *-reversible element.

To prove that $(a b)$ is a left $*$-reversible element, let $h(a b)=0$. By the same argument above it follows, $(a b) h h^{*}(a b)^{*}=0$ and $(a b) h=0$, hence $h a^{*} b^{*}=0$ and $b^{*} a^{*} h a^{*} b^{*}=b b^{*} a^{*} h a^{*}=h^{*}(a b)(a b)^{*} h=0$, thus $h^{*}(a b)=(a b)^{*} h=0$. So, $(a b)$ is a left $*-$ reversible element and the set of $*$-reversible elements are closed under multiplication.

Lemma 2.8. Let a be $a *$-reversible element in $a *$-compressible ring $R$, with proper involution $*$, then:

1. If $(a r) h=0$ then $h(a r)^{*}=0$ for $r, h \in R$.
2. If $h(a r)=0$ then $(a r)^{*} h=0$ for $r, h \in R$.
3. If $h(r a)=0$ then $(r a)^{*} h=0$ for $r, h \in R$.
4. If $(r a) h=0$ then $h(r a)^{*}=0$ for $r, h \in R$.

Proof. (1) Let $(a r) h=0$, so $a r h r^{*}=r h r^{*} a^{*} a=0$ since $a$ is a $*$-reversible element. Hence $\left[h\left(r^{*} a^{*}\right)(a r)\right]^{2}=0$. By proposition 2.3, $h\left(r^{*} a^{*}\right)(a r)=-\left(r^{*} a^{*}\right)(a r) h^{*}$ and we have, $h\left(r^{*} a^{*}\right)(a r)\left(r^{*} a^{*}\right)(a r) h^{*}=0$. Since $*$ is proper involution, $h\left(r^{*} a^{*}\right)(a r)=$ 0 , it follows $h(a r)^{*}(a r) h=0$ and again $*$ is proper involution, $h(a r)^{*}=0$.
(2) Let $h(r a)=0$, so $r^{*} h(r a)=a a^{*} r^{*} h r=0$ and $\left[(r a)\left(a^{*} r^{*}\right) h\right]^{2}=0$. By the same argument above we have $(r a)(r a)^{*} h=0$, thus $h^{*}(r a)(r a)^{*} h=0$. Since $*$ is proper involution, $h^{*}(r a)=(r a)^{*} h=0$.
(3) If $h(a r)=0$ then $(r h a)^{2}=0$ and $r h a=-a^{*} h^{*} r^{*}=a^{*} h^{*} r^{*}=0$ since $R$ is $*-$ compressible. Thus $0=r^{*} r h a=a^{*} r^{*} r h a^{*}$, it follows $h a^{*}\left(a^{*} r^{*} r\right)^{*}=h a^{*} r^{*} r a h^{*}=$ 0 by (1). So $h(r a)^{*}(r a) h^{*}=0$ and since $*$ is proper involution, $(r a) h^{*}=h(r a)^{*}=$ 0 , so $\left((r a)^{*} h\right)^{2}=0$ and $(r a)^{*} h=-h^{*}(r a)$, thus $\left((r a)^{*} h\right)\left(-h^{*}(r a)\right)=\left((r a)^{*} h\right)\left(h^{*}(r a)\right)=$ 0 and we get $(r a)^{*} h=0$.
(4) Let $(r a) h=0$, it follows, $(a h r)^{2}=0$ and $a h r=-r^{*} h^{*} a^{*}$, then $(a h r)\left(r^{*} h^{*} a^{*}\right)=0$.

Since $*$ is proper involution, $a^{*} r^{*} h^{*} a^{*}=0$ and $a a^{*} r^{*} h^{*}=0$, by (1) $h^{*}\left(a a^{*} r^{*}\right)^{*}=$ 0 and we have, $h^{*}(r a)\left(a^{*} r^{*}\right) h=0$. Thus $h^{*}(r a)=0$ and $\left[(r a) h^{*}\right]^{2}=0$, hence $(r a) h^{*} h(r a)^{*}=0$, so $(r a) h^{*}=h(r a)^{*}=0$.

We conclude this note by the following theorem which is analogous to theorem 4 and remark 4 of [1].

Theorem 2.9. Let $R$ be $a *$-compressible and $*$ is proper involution. Then

1. If $s_{1} s_{2} s_{3}=0$ where $s_{i}$ are $*$-reversible elements, then the product of the $s_{i}$ 's is zero in any order.
2. If sxdyt $=0$, where $s, d, t$ are $*-$ reversible elements and $x, y \in R$, then :

$$
\begin{aligned}
& d y t s x=t s x d y=x d y t s=y t s x d=0 \\
& s x y t d=d y s x t=s y t x d=d s x y t=0
\end{aligned}
$$

Proof. (1) By lemma 2.7, $s_{i} s_{j}$ is $*$-reversible element for $i, j=1,2,3$. Since $s_{1} s_{2} s_{3}=$ 0 , it follows, $s_{3}^{*} s_{1} s_{2}=s_{2}^{*} s_{3}^{*} s_{1}=s_{1}^{*} s_{2}^{*} s_{3}^{*}=s_{3} s_{2} s_{1}=0$. Also, $s_{3}^{*}\left(s_{1} s_{2}\right)=\left(s_{1} s_{2}\right)^{*} s_{3}^{*}=$ $s_{2}^{*} s_{1}^{*} s_{3}^{*}=s_{3} s_{1} s_{2}=0$, by similar way we can deduce that $s_{2} s_{3} s_{1}=s_{1} s_{3} s_{2}=s_{2} s_{1} s_{3}=$ 0 .
(2) Since $s, t, d$ are $*$-reversible elements and by lemma 2.8, we can get the following:

$$
\begin{aligned}
& d y t s x=t s x(d y)^{*}=(d y)^{*}(t s x)^{*}=t s x d y=0 \\
& t s x d y=d y(t s x)^{*}=(t s x)^{*}(d y)^{*}=d y t s x=0 \\
& x d y t s=y t s(x d)^{*}=(x d)^{*}(y t s)^{*}=y t s x d=0
\end{aligned}
$$

also, we can have,

$$
\begin{aligned}
& x d y t s=y t s(x d)^{*}=s(x d)^{*}(y t)^{*}=(x d)^{*}(y t)^{*} s^{*}=s y t x d=0 \\
& t s x d y=(d y)^{*} t s x=(s x)^{*}(d y)^{*} t=t^{*}(s x)^{*}(d y)^{*}=d y s x t=0 \\
& y t s x d=s x d(y t)^{*}=d(y t)^{*}(s x)^{*}=(y t)^{*}(s x)^{*} d^{*}=d s x y t=0
\end{aligned}
$$

## Conclusion

In this note we proved that semiprime ring $R$ is a subdirect product of rings without $*$-reversible elements if and only if $R$ is $*$-compressible. We proved some results related to $*$-compressible ring.

## Data Availability

No data were used to support this study.

## Conflicts of Interest

The author declares that there is no conflict of interest regarding the publication of this paper.

## References

[1] T.C.YIT, On Subdirect Product of Rings without Symmetric divisors of zero. Amer. Math. Soc. 46 (2)(1974). View at Amer Math Soc. View at Google scholar.
[2] G.F.Birkenmeier and N.J.Groenewald, Prime Ideal in Rings with Involution, Q.M. 20 (1997), 591-604. view at:http://doi.org/10.1080/16073606.1997.9632228. View at Google scholar.
[3] W.M.Fakieh and S.K.Nauman, Reversible Rings with Involutions and Some Minimalities, The Scientific World J, 2013, 8 Article. ID:650702. View at Google scholar.
[4] W.M.Fakieh, JP Journal of Algebra, Number Theory and Applications, A Note in *-Simple Rings, 2015, 37(3), 281-291. View at Google scholar.
[5] V.A.Andrunakievic and Ju.M.Rjabuhin, Rings without Nilpotent Elements, and Completely Prime Ideals, Dokl.Akad.Nauk SSSR 180(1968), 9-11=Soviet Math.Dokl. 9(1968),565-568. MR 37(6320). Vie at Canadian Mathematical Society.
[6] G.F.Birkenmeier, J.K Park and S.Tariq Rizvi, A Theory of Halls for Rings and Modules, T.Albu, G.F.Birkenmeier, A.Erdogan and A.Tercan, Ring and Module Theory, 2012 Springer Basel AG. View at Google scholar.
[7] W.M.Fakieh and S.K.Nauman, Compressible Rings with Involution which are Embedded in Subdirect Product of Domains, submitted


[^0]:    *Corresponding author: wfakieh@kau.edu.sa;

